A 2 o & A

Al A

=N
HASE Mgl 23
ARIME =T X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S X2t 233,501,064 210,348,994 23,152,070
= 169,448,264
[ 5,476,950
£ 35,000
== 17,337,497
Al 41,203,353
S 4208 2& 212,216,676 188,804,647 23,412,029
= 169,448,264
s 4,971,217
= 35,000
= 15,257,375
Al 22,504,820
gras=x X 14,356,545 14,353,519 3,026
= 20,000
= 35,000
s 1,507,702
Al 12,793,843
ARl =X 2 4,188,274 3,997,643 190,631
307 212+01& 4,188,274 3,997,643 190,631
05 2IR”tRIE = 2,913,631 2,723,000 190,631
OA2|=kI2 Q12| 2,597,231
OAtzl=X12 23| 316,400
10 AlISAAIEEE 22X 1,274,643 1,274,643 0
OAt2l S A2 Q121H] 1,223,163
OAtgl= X2 23| 51,480
MNEISX 2 SAL SE+E 116,640 110,160 6,480
[ 34,992
Al 81,648
301 LELEN S 116,640 110,160 6,480
= 34,992
Al 81,648
02 A2 XSG (FHAAHS, W) 116,640 110,160 6,480
OA2IS K2 SAHA EE+E 116,640
= 34,992
Al 81,648
AEIEX2 NIS=X 2208 29| 42,000 42,000 0
== 8,400
Al 33,600
307 212+01& 42,000 42,000 0
< 8,400
Al 33,600
11 AMEISXAEEES 42,000 42,000 0
OAtel=X12 NS 2208 23| 42,000




FA dES
M HASE MBOIE PE
SRl Al EST XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,400
Al 33,600
AEIEX2 SetEz 0l 29X 24,000 24,000
307 el2to| & 24,000 24,000
1 AMEISXAIEEXS 24,000 24,000
OH=ZEAt2S A2 4,000
(OFSE==INEIEINEE, 4,000
OHstSeAteIS A2 4,000
Ostat S Atz S A2 4,000
OHUHHSE AR SAI2 4,000
OZLI=ZE A=A 4,000
ABl=X2 JIs22(E Zooa) 220,000 0 220,000
< 130,000
Al 90,000
402 212 X201 & 220,000 0 220,000
& 130,000
Al 90,000
02 QI X2 AL EE(0IETHE) 220,000 0 220,000
OAMEl=X2 JIsE2E 220,000
= 130,000
Al 90,000
C=0IAE 2 (THEAY) 1,237,055 1,194,741 42,314
s 947,241
Al 289,814
307 @I2t01 & 1,237,055 1,194,741 42,314
& 947,241
Al 289,814
10 Al2IS XA EEE 22X 1,237,095 1,194,741 42,314
OL=0A4 2% 1,237,095
= 947,241
Al 289,814
C=0IAE AE2el(Ae &) 27,000 27,000 0
307 el2to| & 27,000 27,000
05 212t =S 27,000 27,000
OL=0AId A2l (A2l &) 27,000
=X 2SHI(EH) 1,073,374 1,129,234 /55,860
< 322,011
Al 751,363
307 212+01& 1,073,374 1,129,234 55,860
& 322,011
Al 751,363
11 AMEISXAEEES 1,073,374 1,129,234 /55,860




FA dES
M HASE MBOIE PE
SRl Al EST XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oL=Xt BEsdl(&EH) 1,073,374
= 322,011
Al 751,363
=N SAL S84 55,860 0 55,860
=S 16,758
Al 39,102
301 EtE NS 55,860 0 55,860
< 16,758
Al 39,102
02 MBI 2HHSFHS(FHAANS, KLHE) 55,860 0 55,860
=N SAML EESE 55,860
& 16,758
Al 39,102
C=0IAld dAIESl X 20,000 13,600 6,400
301 LEtE N = 20,000 13,600 6,400
03 A2 E A0S (XILTHH) 20,000 13,600 6,400
OL=Ql LAIES HEHl X 8,000
OL=Ql LAIES MWAHHl X 12,000
C=0AE JIsEd 260,000 2,295,249 A2,035,249
401 Al HIZL S 0HYI 260,000 2,295,249 2,035,249
01 Al&HI 260,000 2,295,249 A2,035,249
OL=0Ad JIsEZ 260,000
AEISXAL E=1=H| A& 32,652 32,652
307 elztol & 32,652 32,652
11 AMEISXAIEEXS 32,652 32,652
OAtEIS XA E4=1=H| A& 32,652
ARISKIAF SRt X2 38,400 38,400
307 @I2t0| & 38,400 38,400
11 AMISXAIEEX 38,400 38,400
OAISXIAF SX2tE X1 38,400
A2l SXIAH Sotel sl X 11,000 11,000 0
307 elztol & 11,000 11,000
11 AMEISXAEEES 11,000 11,000
OAI2ISXIAL S0tel g3Hl X 11,000
ARISXIAL St s 18,000 18,000 0
201 er=23| 18,000 18,000
01 At2teltl 18,000 18,000
OARIS XA SEH5 WF 18,000
MEBISXAIE SAHL SELEAIS 52,000 61,600 9,600
201 fer= 3| 12,000 21,600 29,600
01 At 2|l 12,000 21,600 29,600
OARISXIAIE SAHL SE2SAISE 12,000




SH: ME=T D
M LSS MBOT 9F
Chelr AlQIME=X] XA (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
307 212+01 A 40,000 40,000
02 QIRHHAAIHE B X 40,000 40,000
OAISISXIAIE SALA SSLSALY 40,000
UHARHE SLHLEEZ XA 268,800 184,800 84,000
301 LPENF 268,800 184,800 84,000
02 NBIEZESGS(HAAS, RLTHA) 268,800 184,800 84,000
O HE ZALEE = N& 268,800
e At AHErodd| 700 1,000 A300
301 LB NZ 700 1,000 A300
14 JIEt2 43 700 1,000 A300
O#AX Aol 700
MR E X (HEAIY) 5,538,310 3,698,310 1,840,000
301 LPBNZ 5,538,310 3,698,310 1,840,000
10 A ERRJIELZ 5,538,310 3,698,310 1,840,000
OAISIERRA 2= 5,125,740
OA2=22¥ WSH| - I=h| 412,570
ANI=RRA 22| 5%,880 654,530 A57,650
301 LB F 5%,880 654,530 A57,650
10 AIEI SRS 5%,880 654,530 A57,650
OAISISRR3 SAH| 589,050
OAMNI=RRE BaMASH 7,830
MBS HRFH 17,100 19,000 21,900
203 PRF=&Y| 17,100 19,000 21,900
03 A FRIHRFAIY| 17,100 19,000 A1,900
O=Xzd gRFa 17,100
SXNAIE S FHLAE JISs2Z 100,000 100,000
402 SI2ER=01 100,000 100,000
01 QIZEXH2 AL 2 2 (REAITH &) 100,000 100,000
O=XAE S HAAL JIsEL 100,000
KA R Set2st g§EX3 100,000 100,000 0
307 QIZ2t01 A 100,000 100,000
11 Al SXAMEE R 100,000 100,000
OXISASICHH S2ds EHEXA 100,000
SAALY 8435 20,000 20,000 0
308 AHXIHMSOIH 20,000 20,000
13 BI 12 SOICHEHE & XL EALH] 20,000 20,000
O=XAtH &35t 20,000
OlMel 258l XI& 25,000 25,000 0
T 25,000
201 Ler23| 5,000 5,000 0
& 5,000




FA dES
M HASE MBOIE PE
SRl Al EST XA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 5,000 5,000 0
OO0l F=H| 5,000
= 5,000
301 2PEN=S 16,000 16,000 0
= 16,000
03 A2 E A4S (XIS THH) 16,000 16,000 0
OO0l 25 16,000
== 16,000
307 el2to| & 4,000 4,000 0
= 4,000
02 LB A HE X 4,000 4,000 0
OO0l =H| 4,000
= 4,000
o dsEXJD| 28 60,000 60,000 0
307 212+01& 60,000 60,000
06 2= 60,000 60,000
O HS2xJ|J| 2 60,000
JIRASHSAE 120,200 115,200 5,000
= 11,300
Al 108,900
307 el2to| & 120,200 115,200 5,000
= 11,300
Al 108,900
11 AMISXAIEEX 120,200 115,200 5,000
OQIIFASHEAE 120,200
== 11,300
Al 108,900
DA O & 22l "HAR=S 40,000 50,000 10,000
= 20,000
== 12,000
Al 8,000
201 =3 5,000 10,000 /5,000
= 2,500
= 1,500
Al 1,000
01 At 2|l 5,000 10,000 25,000
OLISAF 0Ie & 22| AIEA 5,000
= 2,500
= 1,500
Al 1,000
307 @120l & 35,000 40,000 /5,000
= 17,500




S ME=
Ha: HAS
Al

el AdESX X3 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 10,500
Al 7,000
11 AMEISXAEEES 35,000 40,000 /5,000
OL=AH Olle & 22| AIHAE 35,000
= 17,500
< 10,500
Al 7,000
OO =X 700 1,000 A300
301 EtE NS 700 1,000 A300
14 IIEt2d3 700 1,000 A300
ORIt E= ) L= 700
S ANE =X - &H™ AHIA A2 O XIJ( 35,000 0 35,000
NS W SXAH A
£ 35,000
201 er23| 25,000 0 25,000
= 25,000
01 At22t2l] 20,000 0 20,000
OS¥s SXHMAHIA e 2= XIXHH
QIdIEIE 20,000
= 20,000
03 A2 I 5,000 0 5,000
OSYs SXHMAHIA e == XIXHH
QIdlEIE 5,000
= 5,000
307 21201 & 10,000 0 10,000
=] 10,000
1 AMEISXAEEXS 10,000 0 10,000
O8¥s SXHMAHIA e 24 XA
ldlEIE 10,000
=] 10,000
M6 KISAS| 2EHE (K HAR 2 E AL 17,600 0 17,600
308 AXIMSOIA 17,600 0 17,600
07 MXISHHARE = 17,600 0 17,600
OHMIEI| KIHAS S EHIE (XIS ALS S E T AL
) 17,600
HASE AMdlA K& 179,503,897 156,573,054 22,930,843
= 183,272,916
= 4,926,781
& 13,269,310
Al 8,034,890
A= 0 162,851,905 140,277,881 22,574,024
= 147,388,366
< 11,463,539
Al 4,000,000




SH: ME=T D
M HASE MBOIE P
el MASS MBIA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 162,851,905 140,277,881 22,574,024
= 147,388,366
== 11,463,539
Al 4,000,000
01 AR 2EHSHS(RNEXRTHE) 162,851,905 140,277,881 22,574,024
o= z=de+s i HAHSN 162,851,905
= 147,388,366
=S 11,463,539
Al 4,000,000
S ESS = JNME 1G] 119,102 118,572 530
308 XtXIEMSO0IE 119,102 118,572 530
08 wW=J|20Het2x 119,102 118,572 530
O=Wz=de+g i IS0 119,102
L FSESPN =10 772,308 752,870 19,438
= 695,102
< 54,036
Al 23,170
301 EtE NS 772,308 752,870 19,438
= 695,102
== 54,036
Al 23,170
01 Al 2E AL S(SRNEXMH) 772,308 752,870 19,438
O=2D|zde+g Xt HAEHS0 772,308
= 695,102
= 54,036
Al 23,170
HSE J|ZHEEHAY 38,000 54,000 16,000
< 19,000
Al 19,000
301 EtE NS 38,000 54,000 A16,000
= 19,000
Al 19,000
03 A2 E A0 2 (XL THH) 38,000 54,000 16,000
ONSE JI=MEZHAIY 38,000
= 19,000
Al 19,000
2==X A& 6,486,810 6,566,000 AT79,190
= 5,189,448
= 648,681
Al 648,681
301 EtE2 N = 6,486,810 6,566,000 AT79,190
= 5,189,448
= 648,681




SH: ME=T D
M YASS MY Y
Rl NASE AL X EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 648,681
01 AISIBE X 2GS (2 UETME) 6,486,810 6,566,000 AT79,190
o2==X K& 6,486,810
= 5,189,448
& 648,681
Al 648,681
KNEXESE A3 AHIA SRAL 6,655,560 6,282,522 373,038
= 4,670,801
& 1,000,886
Al 983,873
201 B2 AY| 9,500 9,950 2450
= 6,650
= 1,425
Al 1,425
01 AtR2telt] 9,500 9,950 A450
OXNEXEYE AISIAHIA EXAIS (XH2) 1,500
= 1,050
T 225
Al 225
OXNEXEYE AISIAHIA SEXAIS (XIA) 8,000
= 5,600
T 1,200
Al 1,200
202 0idl 1,500 1,050 450
= 1,050
& 225
Al 225
01 =2LHO4 ] 1,500 1,050 450
OXEXEE MIAMBIA EXAIS (XHE) 1,500
Ay 1,050
T 225
Al 225
403 REXISHHIS K201 & 6,644,560 6,271,522 373,038
iy 4,663,101
T 999,236
Al 982,223
02 SIS0 CHSt A2 2 EAFHI 6,644,560 6,271,522 373,038
OXEXEE MIAMEIA EXAIS (XHE) 5,848,152
= 4,093,706
& 877,223
Al 877,223
OXEXEE MIAMEIA EXAIS (XI) 700,000
= 490,000




SM: ME=XD
B HASE MBOIE P
el MASS MBIA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 105,000
Al 105,000
oS =SSN AE 96,408
= 79,39%
< 17,013
dFg SUI=sA = 105,000 105,000
307 21201 & 105,000 105,000
11 ARRIS XA E X 105,000 105,000
O¥=ESUISII At 105,000
Y m= 010] 8le &0t gt 830,000 854,100 £24,100
301 EtE NS 830,000 854,100 A24,100
14 IIEt2 8= 830,000 854,100 A24,100
O AIE & &8st HHE 830,000
NASE dgotd N2 40,000 40,000 0
301 LEtE N = 40,000 40,000
03 A2 E A0S (XILTHH) 40,000 40,000
OMASIHE K& 30,000
OAt2|=XIAIE XIE 10,000
FUESHE 2SN 203,340 203,340 0
< 40,668
Al 162,672
307 glztol & 203,340 203,340 0
= 40,668
Al 162,672
11 AMEISXAIEEXS 203,340 203,340 0
O SHH 2 X 203,340
= 40,668
Al 162,672
A NSM2EE2AM =2S 194,499 232,29 A\37,800
301 22N = 88,200 126,000 A37,800
4 JIE2 8= 88,200 126,000 A37,800
O= NSAMI2HE AN 29 88,200
307 glztol & 106,299 106,299
10 Al SXAEEHE2EHI2x 106,299 106,299
OFFAl NEAREEEAM 22 106,299
NEAt2ZE€AM s KA 1,000 1,000 0
= 300
Al 700
201 ger=3| 1,000 1,000 0
s 300
Al 700
01 At22t2l] 1,000 1,000 0




SH: ME=T D
M YASS MY Y
=Rl NASSE APl X (e A
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNSA 2HE M s XA 1,000
= 300
Al 700
ARS8 & AL K13 20,000 20,000
307 @20l & 20,000 20,000
1 AMISXAIEEX 20,000 20,000
OAtI=RI2 & A XI& 20,000
AT SE A2 X~ 24,000 24,000 0
= 12,000
Al 12,000
201 er2 3| 12,000 12,000 0
= 6,000
Al 6,000
01 At2teltl 12,000 12,000 0
OAlZ7 SEAdZ K& 12,000
= 6,000
Al 6,000
301 EetE2 NS 12,000 12,000 0
[ 6.000
Al 6,000
01 ARSI 2E AL S(SREXMH) 12,000 12,000 0
OAlZ+ SeAtdl2el XI& 12,000
= 6,000
Al 6,000
SYALBI0IN 29 4,800 4,800 0
= 2,400
Al 2,400
101 @1A4H| 4,800 4,800 0
[ 2,400
Al 2,400
03 SR (RIH )22 U2+ 4,800 4,800 0
O &#+MHHI0IM 29 =2 4,800
[ 2,400
Al 2,400
SHs XEY SEAMHIA X 345,173 345,173 0
= 241,580
Al 103,593
201 er2 3| 138,068 138,068 0
= 96,609
Al 41,459
01 AtR2t2|HI 120,960 120,960 0
OsH=s A58 SEAtlA XA 120,960
s 84,633




FA dES
B HASE MBOIE P
el MASS MBIA X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 36,327
02 S3=gHl 17,108 17,108 0
OSHs XEE SEAMHIA NH 17,108
[ 11,976
Al 5,132
301 EtE NS 207,106 207,105 0
= 144,971
Al 62,134
01 Al EE A2 (2RNEXMR) 207,105 207,105 0
OsHs X5 SEAMHIL NE 207,105
= 144,971
Al 62,134
Al SXME HFAE 2E 633,000 594,000 39,000
306 EG= 633,000 594,000 39,000
01 &= 633,000 594,000 39,000
OHFAl SXME dFAE 2¢ 633,000
Al SXAME S J12 01&HIE X2 130,000 0 130,000
406 J1EHAH=0I A 130,000 0 130,000
01 JIEFH=01H 130,000 0 130,000
OdFAl SXME S J1& 0l8HIS K& 130,000
HEI2E AIED|ISEZAM(Z ZHAH0L 35,000 90,000 55,000
= 35,000
402 QI2F X201 & 35,000 90,000 55,000
= 35,000
02 RIENZASEZ(0IETHR) 35,000 90,000 55,000
o= gE=2d MY S5 36,000
< 35,000
HZesS e JelREABIA XA 7,200 7,497 N297
201 fer=2 3| 7,200 7,497 N297
02 S3=gHl 7,200 7,497 N7
Od=esS e BB AHIA X 7,200
NAS HSSEIT MHERIA BAAMS(Z O 7,200 0 7,200
< 7,200
402 2IZtA=01d 7,200 0 7,200
=S 7,200
02 QI X2 AL EE(OIHTHE) 7,200 0 7,200
ONMAS HS=SHII HECA A 7,200
= 7,200
A& 18,356,234 17,878,074 478,160
= 16,155,348
[ 44,436
= 480,363




SH: ME=T D
B WASE MBOIE P
=Rl A (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,676,087
A2 Z A 11,573,409 10,594,533 978,876
= 10,416,068
= 462,936
Al 694,405
201 Let=23 | 10,000 10,000 0
= 9,000
< 400
Al 600
01 At2t2lt] 10,000 10,000 0
oxzze4st X 10,000
= 9,000
S 400
Al 600
301 EtE NS 1,005,000 1,005,000 0
= 904,500
== 40,200
Al 60,300
01 AR 2EHSHS(RDNEXRTH) 1,000,000 1,000,000 0
ox=z22E8dst N2 1,000,000
= 900,000
=S 40,000
Al 60,000
11 AALEEIXIE S 5,000 5,000 0
oxnazzedst X 5,000
= 4,500
=S 200
Al 300
307 212+01& 10,558,409 9,579,533 978,876
= 9,502,568
=S 422,336
Al 633,505
05 eit?(& = 10,558,409 9,579,533 978,876
oxgzz2&dst X 10,558,409
= 9,502,568
= 422,336
Al 633,506
AESsKES 45,004 0 45,004
= 40,504
= 1,800
Al 2,700
301 EtE2 NS 45,004 0 45,004
= 40,504




SH: ME=T D
M YASS MY Y
chel: KR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,800
Al 2,700
01 A2 HSHS(RNEERTH) 45,004 0 45,004
oxgdEsNE=S 45,004
= 40,504
< 1,800
Al 2,700
ANg=IDs sit2el 2,640 2,430 210
201 er23 | 2,640 2,430 210
01 At2teltl 2,640 2,430 210
oXMg=siDI= sitdel 2218 FA2+¢ 2,640
NS HE SALA S84 42,090 41,760 330
= 12,627
Al 29,463
301 Eet2 NS 42,090 41,760 330
== 12,627
Al 29,463
02 ARSI 2E AT S(FIANS, XLETHE) 42,090 41,760 330
OXISA2HE SAHA S84 42,090
< 12,627
Al 29,463
NS A2HE WSl A& 6.000 6,000 0
= 1,800
Al 4,200
307 gl2to| & 6,000 6,000 0
=S 1,800
Al 4,200
11 ARRIS XA E X 6,000 6,000 0
OXNYGAEMH WLl K& 6,000
< 1,800
Al 4,200
NEX2HE 2K 1,154,952 998,606 156,346
= 793,182
Al 361,770
307 el2tol & 1,154,952 998,606 156,346
= 793,182
Al 361,770
05 212+ = 1,154,952 998,606 156,346
OXG e 28X 1,154,952
= 793,182
Al 361,770
NS XHEHE Atell2te| A Q12| 63,480 62,954 526
= 44,436




SH: ME=T D
M YASS MY Y
chel: KR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 19,044
307 gl2tol & 63,480 62,954 526
] 44,436
Al 19,044
05 git?(& = 63,480 62,954 526
OXEZZFH0UA Atell2el 2SXIE 63,480
[ 44,436
Al 19,044
NS XH2HE AtellZtelAb 2SI 4,000 0 4,000
= 1,200
Al 2,800
307 el2tol & 4,000 0 4,000
= 1,200
Al 2,800
05 212+ =S 4,000 0 4,000
ORIt HES Atefl2telAl 2] 4,000
== 1,200
Al 2,800
FUAS & =8t 28 N 14,000 14,000 0
201 el 14,000 14,000
01 At2t2ltl 9,000 9,000
O&Jl, A8, sdJ| 2] ES 9,000
2 s5=34l 5,000 5,000 0
OSZAI23Hl RN S 5,000
22 sHU=s SN2 ExSNA (AL HEHI ) 438,568 358,3% 80,174
= 394,712
Al 43,856
307 212+01& 438,568 358,3% 80,174
= 304,712
Al 43,856
05 2IZtAE = 438,568 358,3% 80,174
O3 M=AHZ | 438,568
= 3%4,712
Al 43,856
22 sEAsE S ESX2 (ALHFAHZ) 230,440 262,218 A31,778
= 207,3%
Al 23,044
307 @120l & 230,440 262,218 A31,778
= 207,3%
Al 23,044
05 2IR”tRIE = 230,440 262,218 A31,778
O3 M=AHZHI 230,440




SH: ME=T D
M YASS MY Y
chel: KR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 207,3%
Al 23,044
22 sEAsE S €K (HFAUHLMSAE) 4,781,651 5,134,818 A353,167
= 4,303,486
Al 478,165
307 gl2to| & 4,781,651 5,134,818 N353, 167
= 4,303,486
Al 478,165
05 git?(& = 4,781,651 5,134,818 A353,167
OFIHUNL M=% 4,781,651
= 4,303,486
Al 478,165
=ItEE 2 8,363, 166 5,760,148 2,603,018
=S 2,022,920
Al 6,340,246
22acl 8,363, 166 5,760,148 2,603,018
== 2,022,920
Al 6,340,246
2244 A 7,528,320 4,840,320 2,683,000
< 1,960,320
Al 5,568,000
301 EtE NS 7,528,320 4,840,320 2,688,000
= 1,960,320
Al 5,568,000
03 A2 E A0 Z2 (XL THH) 7,528,320 4,840,320 2,683,000
oRs=+9 A& 7,528,320
= 1,960,320
Al 5,568,000
SIAS AL =& K& 13,680 13,740 260
< 6.600
Al 7,080
301 2eEN= 13,680 13,740 260
& 6,600
Al 7,080
03 AL 2 EH 263 (XL E) 13,680 13,740 260
O AL =& XI&H 13,680
= 6,600
Al 7,080
HFUFEL AERZE NS 28,000 28,000 0
301 EtE NS 28,000 28,000
03 A2 E A4S (XL THH) 28,000 28,000
OBIRSA AMURZS XS 28,000
2EA & SRR 432,958 457,350 N24,392
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6,000
4,000
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34,500
31,654
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SN A=
m2: s
chel: 22l EER=E)
SA - B - SRI(B) - MRAR - B A HIDEZ
| ozdex ¢ s#zAs 40,000
HESUSSHAY 29 40,000 40,000 0
= 20,000
Al 20,000
307 212+0lH 40,000 40,000 0
= 20,000
Al 20,000
11 AMRISXIAIEE X 40,000 40,000 0
ONSSYSSTAR 29 40,000
= 20,000
Al 20,000
HEFA 2232 S 24 35,000 46,500 211,500
201 Ler2aY| 25,000 28,500 23,500
01 At2teltl 9,000 13,500 24,500
OHFA 223 S AN 9,000
2 s=5=34l 16,000 15,000 1,000
OFFA 23R S SANE 16,000
401 AIEHIK 20 10,000 18,000 28,000
01 AlZHI 10,000 18,000 28,000
OFZAl 2ESH S AlY 10,000
2erclsd 29 135,000 150,000 215,000
= 36,000
Al 99,000
101 el 60,000 44,552 15,448
&= 18,000
A 42,000
M IIRtMZZ2 S 2 60,000 44,552 16,448
CELS L 60,000
LS 18,000
Al 42,000
201 ZRt=3hl 48,000 52,448 24,448
= 14,400
Al 33,600
01 A2 22l 18,000 30,000 A12,000
2Erlan 2 18,000
= 5,400
Al 12,600
2 s=5=34l 30,000 22,448 7,552
ozErze 29 30,000
LS 9,000
Al 21,000
306 tia=s 15,000 0 15,000




FA dES
Hu: s
chel: 22l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 that=S 15,000 0 15,000
OoFs+csd 24 15,000
401 Al HIX S0 12,000 53,000 241,000
= 3,600
Al 8,400
01 A28l 12,000 53,000 241,000
2EFcl3d 29 12,000
== 3,600
Al 8,400
BH2I3H(HE=X1) 1,633,036 1,329,319 303,717
= 505,733
& 57,202
Al 1,070,101
oA (M=) 1,567,481 1,256,543 310,938
= 505,733
< 57,202
Al 1,004,546
QA2 BH(HE=X1L) 801,170 512,127 289,043
101 @124H| 801,170 512,127 289,043
01 E= 801,170 512,127 289,043
OAIAZ25E 784,646
O ] 16,524
@ XS AEH 2 16,524
SEAHHI 22l AL 12| 357,720 347,280 10,440
[ 178,860
Al 178,860
101 e124d| 321,920 312,550 9,370
= 160,960
Al 160,960
03 SR (RINAHA) 222+ 321,920 312,550 9,370
OSEAtIZCIAL Q12| 321,920
= 160,960
Al 160,960
4 HASFEESS 35,800 34,730 1,070
[ 17,900
Al 17,900
M BRA(RIHS) 22N BEE2RE=s S 35,800 34,730 1,070
OZRA(RINHA)22T EE=RES S 36,800
= 17,900
Al 17,900
Sl = 0 2telAt 12| 408,591 397,136 11,455
= 326,873
[ 57,202




= NI,
Y2 IH(HE=A )
QA HH(HESX ) 2 HS)
SA - B SRIBH) - MRAR - BAS A HIDEZ
24,516
101 @1A4H| 408,591 397,136 11,455
[ 326,873
= 57,202
Al 24,516
03 SRH(RINHA) 222+ 408,591 397,136 11,455
O2=z2c|AL 1248| 408,591
= 326,873
& 57,202
24,516
l2ZH(ME=X) 65,555 72,776 AT, 221
Jl=ZH(d&8=x) 65,555 72,776 AT, 221
201 Let=ghl 38,278 43,724 Nb,446
01 AtR2t2|HI 36,978 36,724 1,254
Odgt+=H| 19,440
(©F=F{:] 16,038
o=2g+d 1,500
02 S5=2g4l 1,300 8,000 26,700
0=52= # HAl 1,300
202 04t 21,067 22,152 1,085
01 =LHOHI 21,067 22,152 1,085
OJl2gfFA0 21,067
203 =4l 6,210 6,900 60
01 D[22 EFFA| 2,970 3,300 A330
o=sisd=g 2,970
M EASHLRFAH 3,240 3,600 360
ORNESgER=AHI
270,000 * 122 3,240
Heas(da=xm) 11,288,186 11,454,880 N 166,694
SoeHNE (M=) 11,288,186 11,454,880 A166,694
UWRAHHXE(2ZSHIISSLIH HES) 11,288,186 11,454,880 A166,694
701 JIEtSI HSHES 11,288,186 11,454,880 A166,694
01 It AN ES 11,288,186 11,454,880 166,694
Ooza0II=SE82H HE= 11,288,186




